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2*pnorm(-0.3607455)1
[1] 0.7182897
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2*pnorm(-0.2367497)1
[1] 0.812851
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prop.test(x, n, p = NULL,
alternative = c("two.sided", "less", "greater"),
conf.level = 0.95,
correct = TRUE)

x
n

x = table()
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tidy()

.35*269 # number of "successes"; round this value1
[1] 94.15

prop.test(x = 94, n = 269,              # x = # successes & n = sample size1
          p = 0.36,                     # null value p02
          alternative = "two.sided",    # 2-sided alternative3
          correct = FALSE)              # no continuity correction4

    1-sample proportions test without continuity correction

data:  94 out of 269, null probability 0.36
X-squared = 0.13014, df = 1, p-value = 0.7183
alternative hypothesis: true p is not equal to 0.36
95 percent confidence interval:
 0.2949476 0.4081767
sample estimates:
        p 
0.3494424 

prop.test(x = 94, n = 269, p = 0.36, alternative = "two.sided", correct = FALSE) %>% 1
  tidy() %>% gt()2
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table
.35*269 # number of "successes"; roun1

[1] 94.15

SportsBet1 <- tibble(1
  Coll = c(rep("Bet", 94),2
           rep("NotBet",269-94))3
  )4

glimpse(SportsBet1)1
Rows: 269
Columns: 1
$ Coll <chr> "Bet", "Bet", "Bet", "Bet", "Bet", 
"Bet", "Bet", "Bet", "Bet", "B…

SportsBet1 %>% tabyl(Coll)1
   Coll   n   percent
    Bet  94 0.3494424
 NotBet 175 0.6505576

table(SportsBet1$Coll)1

   Bet NotBet 
    94    175 
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prop.test x
n

prop.test(x = table(SportsBet1$Coll),   # table() of data1
          p = 0.36,                     # null value p02
          alternative = "two.sided",    # 2-sided alternative3
          correct = FALSE)              # no continuity correction4

    1-sample proportions test without continuity correction

data:  table(SportsBet1$Coll), null probability 0.36
X-squared = 0.13014, df = 1, p-value = 0.7183
alternative hypothesis: true p is not equal to 0.36
95 percent confidence interval:
 0.2949476 0.4081767
sample estimates:
        p 
0.3494424 

prop.test(x = 94, n = 269,              # x = # successes & n = sample size1
          p = 0.36,                     # null value p02
          alternative = "two.sided",    # 2-sided alternative3
          correct = FALSE)  %>%         # no continuity correction4
  tidy() %>% gt()5
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prop.test(x = 94, n = 269, p = 0.36, alternative = "two.sided", 1
          correct = FALSE) %>% 2
  tidy() %>% gt()3

prop.test(x = 94, n = 269, p = 0.36, alternative = "two.sided", 1
          correct = TRUE) %>% 2
  tidy() %>% gt()3
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# round the number of successes:1
.35*269 # number of "successes" in college students2

[1] 94.15

.36*214 # number of "successes" in noncollege students1
[1] 77.04

NmbrBet <- c(94, 77)                    # vector for # of successes in each group1
TotalNmbr <- c(269, 214)                # vector for sample size in each group2

3
prop.test(x = NmbrBet,                  # x is # of successes in each group 4
          n = TotalNmbr,                # n is sample size in each group5
          alternative = "two.sided",    # 2-sided alternative6
          correct = FALSE)              # no continuity correction7

    2-sample test for equality of proportions without continuity correction

data:  NmbrBet out of TotalNmbr
X-squared = 0.05605, df = 1, p-value = 0.8129
alternative hypothesis: two.sided
95 percent confidence interval:
 -0.09628540  0.07554399
sample estimates:
   prop 1    prop 2 
0.3494424 0.3598131 

35



table

# round the number of successes:1
.35*269 # college students2

[1] 94.15

.36*214 # noncollege students1
[1] 77.04

SportsBet2 <- tibble(1
  Group = c(rep("College", 269), 2
         rep("NonCollege", 214)),3
  Bet = c(rep("yes", 94), 4
          rep("no", 269-94),5
          rep("yes", 77), 6
          rep("no", 214-77))7
)8

glimpse(SportsBet2)1
Rows: 483
Columns: 2
$ Group <chr> "College", "College", "College", 
"College", "College", "College"…
$ Bet   <chr> "yes", "yes", "yes", "yes", "yes", 
"yes", "yes", "yes", "yes", "…

SportsBet2 %>% tabyl(Group, Bet)1
      Group  no yes
    College 175  94
 NonCollege 137  77

table(SportsBet2$Group, 1
      SportsBet2$Bet)2

            
              no yes
  College    175  94
  NonCollege 137  77
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prop.test x
n

prop.test(x = table(SportsBet2$Group, SportsBet2$Bet),1
       alternative = "two.sided",2
       correct = FALSE)3

    2-sample test for equality of proportions without continuity correction

data:  table(SportsBet2$Group, SportsBet2$Bet)
X-squared = 0.05605, df = 1, p-value = 0.8129
alternative hypothesis: two.sided
95 percent confidence interval:
 -0.07554399  0.09628540
sample estimates:
   prop 1    prop 2 
0.6505576 0.6401869 

prop.test(x = NmbrBet,                  # x is # of successes in each group 1
          n = TotalNmbr,                # n is sample size in each group2
          alternative = "two.sided",    # 2-sided alternative3
          correct = FALSE) %>%          # no continuity correction4
  tidy() %>% gt()5
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prop.test(x = NmbrBet, n = TotalNmbr, alternative = "two.sided", 1
          correct = FALSE) %>% tidy() %>% gt()2

prop.test(x = NmbrBet, n = TotalNmbr, alternative = "two.sided", 1
          correct = TRUE) %>% tidy() %>% gt()2
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p <- 0.351
p0 <- 0.362
alpha <- 0.053
beta <- 0.20  #power=1-beta; want >=80% power4
n <- p*(1-p)*((qnorm(1-alpha/2) + qnorm(1-beta)) /5
                (p-p0))^26
n7

[1] 17856.2

ceiling(n) 1
[1] 17857
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p <- 0.35; p0 <- 0.36; alpha <- 0.05; n <- 2691
(z <- (p-p0)/sqrt(p*(1-p)/n))2

[1] -0.343863

(Power <- pnorm(z - qnorm(1-alpha/2)) +  pnorm(-z - qnorm(1-alpha/2)))1
[1] 0.06365242
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pwr

pwr.p.test(h = NULL, n = NULL, sig.level = 0.05, power = NULL, alternative 
= c("two.sided","less","greater"))

pwr.2p.test(h = NULL, n = NULL, sig.level = 0.05, power = NULL,
alternative = c("two.sided","less","greater"))

pwr.2p2n.test(h = NULL, n1 = NULL, n2 = NULL, sig.level = 0.05, power = 
NULL, alternative = c("two.sided", "less","greater"))
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pwr
pwr.p.test(h = NULL, n = NULL, sig.level = 0.05, power = NULL, alternative 
= c("two.sided","less","greater"))

h = ES.h(p1, p2)
p1 p2

library(pwr)1
2

p.n <- pwr.p.test(3
  h = ES.h(p1 = 0.36, p2 = 0.35),4
  sig.level = 0.05, 5
  power = 0.80, 6
  alternative = "two.sided")7
p.n8

     proportion power calculation for binomial 
distribution (arcsine transformation) 

              h = 0.02089854
              n = 17971.09
      sig.level = 0.05
          power = 0.8
    alternative = two.sided

plot(p.n)1
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pwr
pwr.p.test(h = NULL, n = NULL, sig.level = 0.05, power = NULL, alternative 
= c("two.sided","less","greater"))

h = ES.h(p1, p2)
p1 p2

library(pwr)1
2

p.power <- pwr.p.test(3
  h = ES.h(p1 = 0.36, p2 = 0.35),4
  sig.level = 0.05, 5
  # power = 0.80, 6
  n = 269,7
  alternative = "two.sided")8
p.power9

     proportion power calculation for binomial 
distribution (arcsine transformation) 

              h = 0.02089854
              n = 269
      sig.level = 0.05
          power = 0.06356445
    alternative = two.sided

plot(p.power)1
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pwr

pwr.2p.test(h = NULL, n = NULL, sig.level = 0.05, power = NULL,
alternative = c("two.sided","less","greater"))

h = ES.h(p1, p2) p1 p2

p2.n <- pwr.2p.test(1
  h = ES.h(p1 = 0.36, p2 = 0.35),2
  sig.level = 0.05, 3
  power = 0.80, 4
  alternative = "two.sided")5
p2.n6

     Difference of proportion power calculation 
for binomial distribution (arcsine transformation) 

              h = 0.02089854
              n = 35942.19
      sig.level = 0.05
          power = 0.8
    alternative = two.sided

NOTE: same sample sizes

plot(p2.n)1
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pwr

pwr.2p2n.test(h = NULL, n1 = NULL, n2 = NULL, sig.level = 0.05, power = 
NULL, alternative = c("two.sided", "less","greater"))

h = ES.h(p1, p2) p1 p2

p2.n2 <- pwr.2p2n.test(1
  h = ES.h(p1 = 0.36, p2 = 0.35),2
  n1 = 214,3
  n2 = 269,4
  sig.level = 0.05, 5
  # power = 0.80, 6
  alternative = "two.sided")7
p2.n28

     difference of proportion power calculation 
for binomial distribution (arcsine transformation) 

              h = 0.02089854
             n1 = 214
             n2 = 269
      sig.level = 0.05
          power = 0.05598413
    alternative = two.sided

NOTE: different sample sizes

plot(p2.n2)1
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